LOSUNG zu bsp-7136-3/PZBU

Arbeitsblatt
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Aufgaben-Quickname: 7136

Aufgabe 1

Berechne.

a) 5 - 200 = 1000
d) 32 - 70 = 2240
g) 66 - 700 = 46200
j) 31-40 = 1240
Aufgabe 2

Berechne.

a) 74 - 140 = 10360
d) 63 - 600 = 37800
g) 54 - 390 = 21060
) 90 - 120 = 10800
Aufgabe 3

Berechne.

a) 95 - 80 = 7600
d) 91 - 400 = 36400
¢) 24 - 700 = 16800
i) 44 - 50 = 2200

Aufgabe 4

Berechne.

a) 40 - 10000 = 400000

d) 98 - 10 = 980

g) 79 - 10000 = 790000
j) 94 - 1000 = 94000
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b) 72 - 600 = 43200
¢) 60 - 30 = 1800

h) 25 - 300 = 7500

b) 64 - 8100 = 518400
e) 30 - 250 = 7500
h) 18 - 6000 = 108000

b) 32 - 30 = 960

e) 44 - 5000 = 220000
h) 49 - 3000 = 147000

Seite 1

b) 70 - 1000 = 70000
e) 06 - 10000 = 560000
h) 50 - 10 = 500

¢) 51 - 600 = 30600

f) 32 - 800 = 25600
i) 10 - 60 = 600

¢) 21 - 3000 = 63000
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¢) 7200 = 1400
f) 13 - 5400 = 70200
i) 48 - 5200 = 249600

f) 70 - 80 = 5600
i) 70 - 800 = 56000

¢) 34 - 1000 = 34000
f) 71 - 10000 = 710000
i) 30 - 10000 = 300000
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